
Maths Paper 1 – Grade 7+

The line L is a tangent to the circle 𝑥2+ 𝑦2 = 34
at the point A.
A is the point (2,6)

Find the equation of line L

Solve
𝑥2 > 3(𝑥 + 6)

Solve
𝑥2− 6𝑥 − 8 = 0

Give your answer in the form 𝑎 ± 𝑏

Solve

34𝑥 =
1

9

𝑓 𝑥 = 4𝑥 + 7

𝑔 𝑥 = 𝑥 + 4

Show that 𝑓𝑔−1 𝑥 = 4𝑥2− 9

Express 75 +
12

3
in the form 𝑎 3. 

Where 𝑎 is an integer

Prove that the product of two 
consecutive even numbers is a 
multiple of 4

Simplify
𝑥2+ 2 2− 𝑥2− 5 2

1,2,3,4,5,6
Two numbers from the list above
are selected and multiplied 
together.
Work out the probability that the 
result is an even number.




